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Paper : Economic Admn And Finance Management

Ques # :1

"The micro model is built solely on the individuals and deals with inter-personal relations only ", it was said by

1) Prof. Boulding
2) Prof. Chamberlin
3) Prof. Marshall
4) Prof. Leftwitch

"eq e ATSE qUId: SATFNT SITEAT G TR YT § T 3 - s woaeul 7 Ieqgqar
FIAT | ", TE FeT AT :-

D oy, sffegara

2) ot AR A

3) ot AT

Doy refaT A

Ques # :2

Macro economics is not related with :-
1) National Income

2) Economic Developement

3) General Price Level

4) Production Function

Wﬁﬂ%ﬂﬁmﬁ?aﬁ%:-
D e s &

2) i [erra @

3) grAT AAT ER A

4) Icaree ol &

Ques # :3

Kautilya supports :-
1) Monarchism

2) Democracy

3) Feudalism

4) Dictatorship

FifeeT HIT FATR :-
1) rercrarg &t

Ques # 4

Utility is a subjective concept. It implies that :-
1) Utility of a commodity is same for all
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2) Utility is different of different goods
3) Utility is measurable
4) Utility is always positive

IqAfrar safFafass AR ¥ | sawr ameT -

1) e areq) 1 SRATRIGT e 35 o A A ¥
2)%@#@@3#@%%%%%
3) sy AT |

4) 3T g YA BT § |

Ques # :5

From which commodity amongst the following, the consumer surplus will be more ?
1) A new car model

2) Salt

3) Refrigerator

4) Coat

farafaf@a & @ fFa avqg @ sustiear i gaa s gl 2
D) &1 &t 127 AT

2)0—_13:@;

3) et

4)W

Ques # :6

For studying, the consumer behaviour Cardinal Approach has been given by :-
1) Alfred marshall

2) Paul Samuelson

3) Boulding

4) Hicks & Allen

" SUHFT - SAAGR" F HEIAA g A0TATEATH TIoCHIoT AT I @ -
D) 3re9hs AT ganT

2) dfer Y ereret g@NT

3) gifeger garr

4) feerer vd waleT ganr

Ques # :7

The position and the shape of Indifference curve for a consumer is governed by :-
1) His tastes

2) Price of goods purchased

3) Amount of Income available

4) Price of goods purchased and the amount of Income available

IETHYeTAT g% 1 Ui va 3R v 3udlTar & oS AaRaaa g -
D3sgr e

2) GE 7S TEG H HAT &

3) sy T @

4) TS 71 T Y AT TG 3T HTH
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Ques # :8

In "Perfectly Elastic Demand", the elasticity of demands is shown as :-

1)ed=0
2)ed=1
3)ed=<1
4) ed =0

" QUi AYEER HiaT" 7 AT it ol Y AT AT S -

l)ed=0
2)ed=1
Jed=<1
4) ed =0
Ques # :9

The another name of The law of Equi-margianl utility" is :-
1) The law of demand

2) The law of consumer surplus

3) The law of Substitution

4) The law of utility

" FH - WAL TN ATt FT @A AH -
D) #fer &7 o,

2) 3q8iYerd &1 = & A

3) yfreurvest &1 fgH

) ITN T 1 HEH

Ques # :10

Indifference curve is Convex to the origin :-

1) Because of stable marginal rate of substitution

2) Because of increasing marginal rate of substitution
3) Because of diminisning marginal rate of substitution
4) Because of zero marginal rate of substitution

SerHlerar a% Al fg Y 3T SeTate g g -
D) feer dieArea wfaeamder &X & &ror

?) qaclt §5 HATed Jfee e & HROT

3) greel §5 Hiered FfeedTds ax & FRoT

4) S HieTea Sfaeurdst aX & HROT

Ques # :11

In perfect competition, the demand of commodity will be :-
1) Highly elastic

2) Perfectly elastic

3) Perfectly inelastic

4) Less elastic

ot ferRve 2 e oy AT g -
D) 31f0re aer

2) quf AreER

3) qut SelagR
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D) F7 dFeR

Ques # :12

Who did gine "Total outlay method" of measuring the "Elasticity of demands" ?
1) Prof. Flux.

2) Prof. Boulding.

3) Prof. Daulton

4) Prof. Marshall

Hiar Y ¥ FY AR FY " Fer o7 AR Fraar § 2
D or. wrererg
2) gr. sfesar
3) Y. sreesT
4) 9. AreTer

Ques # :13

No product differentiation is found in which of the following market ?
1) Perfect competition

2) Oligopoly

3) Monopolistic competition

4) Discriminating monopoly

AT & ¥ fFy TR & " 3cuTE - e A g STaT g 2
D) quf g farar

2) eI

3) IR RIcAS gfaaErar

1) fa9eTcHs THIThR

Ques # :14

In which condition, price - discrimination is not possible ?
1) Small market Area

2) Legal Sanction

3) Difference in elasticity of demand.

4) Nature of commodity

Hed - faog frw aRTPufa & wsa adi v d 2
D afaqsem ag#

2) Frefett Tl A

3) Afar &7 T H Reetar #

4) e B

Ques # :15

Which of the following is a characteristic of oligopoly ?
1) A market situtaion with only a few buyers

2) A market situtaion with only a few sellers

3) A market situtaion with one sellers

4) A market situtaion with numerous sellers
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T 7 ¥ srenfOeR AT Fiad [Avar g 2
D) w a1 feurfa St Faet T ar gt

?) vah AT feufar Siet et Fe fashe gt
3) e ST feufey STef veh fashar gt

4) Teh ST FEAT STET 31eveht fashalT &

Ques # :16

" In a production process, keeping the quantity of all the factors constant, if the quantity of any one factor is
increased by one unit then the increment in the total production is known as :-

1) Margianl Revenue Productivity
2) Marginal physical Productivity
3) Value of margianl product

4) Average Production

3cUTE TshaT & If 3curgst & Tsit amea 1 PR T@ae, et vah |1 &Y s 318 918 SATat § ot
Fo 3cUTe A gioF aTel Iy FY FEd § -

1) frarea 3mTH 3cureerar

2) B ATed i Sedreehar

3) @rATTd 3cuTg I Hod

4) 3t 3cure

Ques # :17

Long term production function is related with :-
1) Law of diminimising return

2) Law of Constant return

3) Law of Variable proportions

4) Returns to scale

SIEIhTel el 3cUTGe Weolel T HFG-H & :-
Dsofdeaaaa

2) 3cqfa R FaH &

3) aRadeaier 3iagaTe ¥ e &

1) YA & gfamaT &

Ques # :18

According to Modern theory of Rent the rent will arise when :-
1) Actual Income > Transfer Earnings

2) Actual Income < Transfer Earnings

3) Actual Income = Transfer Earnings

4) Actual Income is zero

A & ITEAF FAGTT & 3TAR ST Sedeet 19T, I :-
D) areafas 3mr > vemeea]or 3

2) greafdes 3 < TATAa0T 31

3) arEafae 3T = FUTAEROT 31

4) areafae 3 T T |

Ques # :19
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Propounder of Loanable fund theory is :-
1) Myrdal

2) Klark

3) Keynes

4) Wickshel

YR T Y A & yfaures ¢ :-
D

2) Fard

3) A=g

) faerder

Ques # :20

Demand for transaction motive primarily depends upon :-
1) Present level of expectation

2) Present interest rate

3) Present level of Income

4) Present level of Profit

TS F 3GART W Y 7 T Y AT FET TT & s I g -
D) geamen & ad A TR @w;

Z)B?ITI'H@'IGTETW;

3) 3T & AT T I

4) ST F TAHTH TR W

Ques # :21

" Uncertainty Bearing Theary of Profit" was propounded by :-
1) Prof. F.H. Knight

2) Prof. Taussing

3) Prof. Walker

4) Mrs. Jhon Robinson

" AT & AR - g RAgra” &1 afaures - fFar :-
Doy o, g age

2) oy, et o

3) oY, afert

4) A ST VfaedeT o

Ques # :22

The formula of disposable income is :-

1) National Income / Total population

2) Gross National Product - Depreciation

3) Personal Income - Direct Taxes - Fees, Penlties
4) Net National Product + Subsidies - Indirect Taxes

T AT T FTHA S :-

D) qreéier 3mer / et SererE

?) Fael WL 3TITE, - 7o g

3) §afFae 3 - cgeT T - B AT
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4) QI TSEI 3G, + el - TIET X

Ques # :23

Net national Product at factor cost is equal to :-
1) NNP at market price - subsidies + Indirect tax
2) NNP at market price - Indirect tax + subsidies
3) GNP at market price - Indirect tax + subsidies
4) GNP at market price - subsidies + Indirect tax

|TETT AT T YE TR 3G a3 -
I)WmW%ﬁmscmq - 3STCTeT + 3TCAET Y
2) ISR AT TR 2[E TR TG - HTeTaT F + 3feTaret
3) AR AT I Hhel T UG - 3TITET X + 3TTaleT
4) TR AT T Fehel TER UG - 3TTETT + HSeTaT FT

Ques # :24

Marginal propensity to consume is ratio of :-

1) amount of consumption expenditure to the total income

2) amount of consuption expenditure to the change in Income
3) change in consuption expenditure to change in Income

4) change in consumption expenditure to the total income

39T iy fAea wgfa @ -

D) 39iYer ooy 1 et 3T 31T

2) 39HYT 3T HT AT F IRacle F 391

3) FHYeT = 3 IREieT 1 3 3 IRacieT 3T
4) 3usieT oI 3 aRE F Fel I Y I

Ques # :25

According to modern economist's, which one of the following measure is not a good measure to raise the
private investment ?

1) Reduction in Interest rates
2) Government Subsidy

3) Wages cuts

4) Reduction in corporate taxes

amyfaes srdenfEal & rTar et # @ Flaar sury fAsh - ffater # Wicwfea Fw3a arer surr

D) sarer - a3t & el
2) FIY - 31T

Ques # :26

If expectancy of profit is high, then :-

1) Marginal efficiency of capital will be zero
2) Marginal efficiency of capital will decline
3) Marginal efficiency of capital will rise
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4) Marginal efficiency of capital will be stable

TS Y eIt 37 ¢ @l :-

D) 43 r AT Fererar g gren
2) Yo & FieArea Fererar aeal

3) o it HATed Frererr agef

4) Yah & Frered Fererar fER @l

Ques # :27

Which of the following is not the assumption of Classical theory of Income and employment ?
1) Always is the situation of full empleyment

2) Free market price mechanism

3) Perfect Competition in labour and commodity market

4) Wages and prices are inflexible

fars & & vfaf¥sa 3o 7 Qoo Rgia i AT slad a8 g -
D) wda oot AR i e §

2) QISR PAd o T &

3) 1o 7 T Ao 3 ot fehfavaT &

4) gl qur A reaRfe ¥ |

Ques # :28

The propounder of over saving theory of Business Cycle is :-
1) J.A Hobson

2) J. Schumpeter

3) A.C. Pigou

4) Hawtrey

SAATRF I & 3T g9d RAgia & yfades ¢ :-
D3 v glewst

2) 3. X

3) v Hr. ey

4 e

Ques # :29

Which one of the following method is known as the "consumption - saving method" of measuring National -
Income ?

1) Expenditure census method
2) Income census method

3) Production census method

4) Census of occupation method

et 7 @ T YorTell FF ISE - 3T Y ATIA FY " TR - g9 HfA" Fgrararg 2
D) e - garorer @fa

2) 31 - FaroreT

3) Fcqree - Herore O

4) ey - GaoTar {fY
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Ques # :30

In which year the book " An Enquiry into the nature & causes of wealth of Nations " published ?
1) 1756
2) 1766
3) 1776
4) 1786

" JISET & T Y YT T HRON T @ISl " GEeleh el b1 §% 2
1) 1756
2) 1766
3) 1776
4) 1786

Ques # :31

In India, to determine the poverty line in urban area per capita calorie for per day consumption has been
assumed :-

1) 2400 calories
2) 2000 calories
3) 2100 calories
4) 2300 calories

T A gl a7 & i Y@ 771 = & o wfay swfFa Fard wfafea swsier & PRy A € -
1) 2400 ey
2) 2000 ey
3) 2100 ey
4) 2300 ey

Ques # :32

Decade Growth rate in Population in India in the period of 2001 =11 was :-
1) 21.5

2) 25.0

3) 23.8

4) 17.64

HITT A 2001 - 11 FY 39 & Sowear A qhr gig e o -
1) 215

2) 25.0

3) 23.8

4) 17.64

Ques # :33

Who provides data of unemployment in India ?
1) National sample survery Organisation

2) Central Statistical organisation

3) Reserve Bank of India

4) Planning Commission

T F AV & 3F3 FieT 3Ty FUAT S ?
D) & deger g HaraeT (NSSO)

2) F=ERT FITETHR TS (CSO)

3) Ro1d & 371 59T (RBI)

4) GrSTeT 3T
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Ques # :34

Duration of eleventh - five year Paln is :-
1) 2008 - 09 to 2012 - 13
2)2007 - 08 to 2011 - 12
3) 2006 - 07 to 2010 - 11
4)2012-13t02016-17

TYTELET GIaET - ATt Y gAIE E -
1) 2008 - 09 & 2012 - 13
2) 2007 - 08 & 2011 - 12
3) 2006 - 07 & 2010 - 11
4)2012- 1382016 - 17

Ques # :35

Growth rate in Agriculture Sector during 2014 -15 according to Economic Survey of 2014 - 15 has been
1) 1.0 %
2) 44 %
3) 39%
4) 1.3%

3 TETOT 2014 - 15 F TAR 2014 - 15 A FR 7 A RFA T E -
1) 1.0 %
2) 4.4 %
3)3.9 %
4)1.3 %

Ques # :36

Which of the following is not the feature of liberalisation ?
1) To free the economy from bureaucratic control

2) To make the economy market based

3) To make loose economic policy

4) To make RBI fully autonomous

e & @ Flaar Igieor FT qeToT AL 7 2

D) stereméY foriaor & srdfcaaear it fed aet
2) 3refcgaEdr T IR TR T

3) 3nfe A & Erer e

) Rt S 1 9F T TEAT FATAT

Ques # :37

A situation where is a person does not get full employment according to his capacity & qualification but that
person engaged in some job, where his marginal productivity is zero or too little. Such type of unemployment
known as :-

1) Seasonal Unemployment

2) Cyclic Unemployment

3) Disguised Unemployment

4) Technological Unemployment
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" Ot Ry STet safare 3rqelt &THAT ST TTAT F HTHR FIH 1 9TaT 8, Afdet ar el Frr F
anngsn%, 8T 3! HIATed SeqTGehdT ey AT AT F aUEN § "', $H a¥E T ST Y Fgad § :-

Ques # :38

Which of the following is not the argument in favour of Privatisation ?
1) Disinvestment in public sector for increasing financial resources

2) Full utilisation of resources in public sector

3) Reduction of Political interference in economic activity

4) Reduction in regional disparities

AT F T A AT A A FlFaraF adT g 2
l)ﬁﬁﬁﬂmﬁﬁqﬂ?%ﬁﬁmmﬁmﬁm
2) grdifores & # FaTeet ST qot 3geT

3) 3nf¥ier feranait 3 Toreifas gedala & &

4) &Y 3rEHATTAT 7 A

Ques # :39

In public - private partnership project, which of the following is not the model ?
1) funding model

2) operating model

3) ownership model

4) lease model

Ao - [ arEterl IR # Reafaf@a slaar Arsa e ¢ 2
D) spromafet Atser

2) sraieler AlS e

3) Farifca Atgd

4)@33“1@?

Ques # :40

Public - Private partnership can be applied for :-
1) as an short term management contract

2) as a long term management contract

3) as both short term and long term contract

4) as a no long term contract

AT SrTiare - frsit WTgierY oy Y 37 Al @ :-
D) sreuerellet gty 31e]eeer & &9 #

2) ErdeTelleT Jatr 31e]ae e & 9 H

3) 3reaTelsT a Qe TatT Helaety o & 3
4) SrderTelet 31eTaee & w9 H 8

Ques # 41
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Chairman of NITI Ayog is :-
1) Persident

2) Vice President

3) Finance Minister

4) Prime Minister

A 3T F1 reAET AT | -
D) qrgafy

2) suarseafa

3) e

1) gererAAT

Ques # :42

Highest share of public - private patrnership in India is in the :-
1) Tele communication Sector

2) Water Supply Sector

3) Health Service Sector

4) Road Construction Sector

HRT H st - [ areter) w1 i 3@« ffear g -
Dgzaarasa

2) Sremqfef &y &

3) Fareey Yar AT H

1) g AT AT A

Ques # :43

Members of Governing Council of Niti Ayog are.:-

1) Chief Ministers of all states

2) Chief Ministers of all states and Deputy Governors of Union territories
3) Governors of all the states

4) Finance minister of all the states

A 3maer Y Irafeior FEfET F FeeTad § -

D) @t Troait 3 s

2) gt Tt & HEEHAT T Feaenfad geelt % ITreadT
3) Fafr =t & TeTaT

) goft Tt & faeqssT

Ques # :44

Which of the follwoing is not the difference between NITI Ayog and Planning Commision ?
1) Planning commission distributies fund where as Niti Ayog is an Advisory Body
2) Role of states is more in Niti Ayog where as it is less in Planning commission

3) Chief Executive Officer is appointed by Prime Minister in Niti Ayog where as Secretaries are appointed by Govt
in Planning commission

4) Both are related with development of Country

Sifar 3T va A 3T F FEAfaf@d # @ Sl sea Ag g 2

1) gYsrar 3maeT e TaaRoT &1 1 st § STafer s 36T Ueh Aellgehik e &

2) cfey 3raar 3 it Y Sy 3171 ¥ STrfen AVoTelT 3TANaT 3 syfaveRT AT gl ¥
3)Fﬂﬁmﬁﬁwwmﬁﬁgﬁmmdl g STafeh Aatetr 39T & gRar
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1 g i TR AT &
4) 2t & Zor & e @ gt @

Ques # :45

Which one of the following is not included in Rural development ?
1) To increase the production and productivity

2) To reduce the Social economic disparities

3) To create employment opportunity

4) To check the Crime tendency.

T & @ Fiaar FR aor e § AT aE E 2
D) scarest o seareshar 7 iy

2) grATTore 3T RAwAansit & &

3) AR & TR &7 Gotet

4) 3roRTer ggfey Y et

Ques # :46

National Rural Employment Programme was started on :-
1) 2 October, 1980

2) 1 January, 1978

3) 1 March, 1982

4) 1 February, 1986

ISR ATATOT ASTITR HIAHA TREST Faham 1T -
D2 srereat 1980

2) | SteTady 1978 @t

3) 1 AT 1982 &

4) | BTady 1986 Y

Ques # :47

Community development programme was started in :-
1) 1952
2) 1956
3) 1961
4) 1976

AR T SR o T ar -
D 1952 &
2) 1956 3
3) 1961 3
4) 1976 3

Ques # :48

Integrated Rural Development Programme was implemented in all the blocks of the country on :-
1) 2nd October, 1980
2) 1st January, 1982
3) Ist March, 1984
4) 1st January, 1986
13/41
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Hfead AHIT e FTAHA U F Tl @Y I oy, v ara -
1) 2 3rerear 1980 &1

2) | STeTardy 1982 &1

3) 1 AT 1984 T

4) 1 SteTady 1986 @

Ques # :49

Which of the following is not the characterstic of co-operation ?
1) co-operation is a voluntary organisation

2) Mutual co-operation

3) Service motive

4) Restrictive membership

HHIRAT T fAFT H il QAvar g & :-
D) ggeiar us teos GereaT &

2) qrEafies ggarer

3) Sar straeT

) giaaferd GeEgdn

Ques # :50

First phase of co-operation in India was started :-
1)in 1904 - 12
2)in 1912 - 18
3)in 1919 - 29
4)in 1939 - 47

mﬁmﬁmmmwmgm:-
D 1904 - 123
2)1912- 18 F
3)1919-29 &
4) 1939473

Ques # :51

In India, the causes of slow growth of co-operative movement are :-
1) general illeteracy

2) increase in outstanding amount of loan

3) Government interference

4) All of these

T H Fear) ATearesT & e e &F FRorTY -
1) g fAwerar

2) zoit Y Fepram el # iy

3) AR gEAeTT

4) gordt 4 el

Ques # :52
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Rural Electrification Corporation was established in :-
1) 1969
2) 1976
3) 1966
4) 1980

ATHIOT FAEFAhToT T3 Y TLTI=AT T 7S oY -
) 1969 #
2) 1976 %
3) 1966 #
4) 1980 #F

Ques # :53

Council of Advancement of People Action and Rural Technology was Constituted in :-
1) October, 1980

2) September, 1986

3) December, 1990

4) March, 1993

STl HTAaTe! vd JTHIOT g 3etder aRwe 1 75+ fonm aram :-
D) srergat 1980 &

2) faaFaT 1986 &

3) fe#sR 1990

4) AT 1993 7

Ques # :54

National Bank for Agriculture and Rural Development (NABARD) was established in :-
1) July, 1982

2) September, 1988

3) March, 1988

4) December, 1990

AT F va ArHtor A & (@1ers) Fr Farde Frad o -
D pars 1982 3%

2) faesT 1986 &

3) AT 1988 &

4) feEFT 1990 H

Ques # :55

Which of the following is not studied in Public Finance ?
1) Public Revenue

2) Public Expenditure

3) Public Debt

4) National Income

Ardorfa® fRcad & rT & @ siaar sregaar 78 T smar g 2
D) grésfae 3

2) grdsifas gy
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3) Frdeifereh ol

4) I 3T

Ques # :56

" Public finace is the study of the principles underlying the spending & raising of funds by public authorities" it
was said by :-

1) Dalton

2) Robbins

3) Finlay Shirras
4) Plehn

" e faca araafas T3t ganT 3y Wita aur 99 @ gFaey RAga 1 eaaa g |, T FaT e

D sfeeaa
2) ofera A
3) Rheter RRTST &
4) cogeT Y

Ques # :57

Which is not the objective of Public Finance ?
1) Price stability

2) Increase in Economic Welfare

3) Maximization of Profit

4) Economic Development

AT e FTHIFAT 3T TET 2
D) e feerar

2) e wearmor 7 gfg

3) SITH T TR el

4) e faerd

Ques # :58

The goal of Maximum Social Welfare can be achieved when :-
1) Marginal Sacrifice is greater than marginal utility

2) Marginal Utility is greater than margianl sacrifice

3) Margianl sacrifice & marginal utility both are equal

4) None of these

HTOHIH ATATTOTE FITOT HT d8F UTd THAT ST HhdT &, 91 :-
1) drarea camr, d@Aed 39afEar & 3 .

2) FraATed 39T, WA cgmeT A 31 8.

3) A ATed camer aur @A STANTAAT et sre &,

4) go1e I IS

Ques # :59

Adam smith laid down four canons of taxation. Which of the following was not laid down by him?
1) Canon of Conveniance

2) Canon of Certainity

3) Canon of ability
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4) Canon of elasticity

3TeH FoRy A w1 F IR Rigia yfanea 5 & | e & & Fiaar 3a3 garr yfaniea a8

AT ?
D gfaur & fRAgia

2) fAfRedr & RAeia
3) gegar &t e
4) oirar &1 g

Ques # :60

Which one of the following is not a direct tax ?
1) Income tax

2) Gift tax

3) Sale tax

4) Corporate tax

et F & Flerar weaeT - F AL E -
D ama st

2) 3YER &<

3) fahr

4) R

Ques # :61

The basis of corporate tax is :-

1) Total turnover of the company

2) Profit after distribution of dividends
3) Profit before distribution of dividends
4) Capital employed in the company.

foeTe T T 3MUR R :-

D) sregah) T et fshr

2) SmeTier fIaRoT & g oY
3) ameter faaRoT & g @y

4) sFget 7 TS TS Yol

Ques # :62

Indirect taxes are objectionable because these :-
1) are hard to collect

2) are regressive

3) do not raise enough revenue

4) are particularly hard on the rich

MHWWW%W% :-

D) grepr darguT ST &

2) & R

3) qffeq 39TH SaTeT # eI «Tar.
4) 3 ereTaret & fordy 3178 FoR .

College Lecturer Exam - Economic Admn And Finance Management-|
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Ques # :63

The incidence of tax means :-

1) The rate of taxation

2) The bearing of the ultimate money burden of the tax
3) Immediate responsibility to pay the tax

4) The effect produced by the tax

I F FIYT HT AT § -

D) ariqor dr ex
2)w$ﬂﬁﬁ?aﬁmmﬁaﬁm
3) T HITATT T el I T T Acd

4) T A 3ot FOTT

Ques # :64

Which one of the following is not a social effect of taxation ?
1) Economic development

2) Social equility

3) Moral development

4) Social justice

faFT & ¥ FleTHT FIROT FH7T WSS THT AST§ 2
D) snfeies faera

2) QAT AT

3) Sife 3cure

4) Ao FaT

Ques # :65

" Present tax system" of India is based on :-
1) Regressive - tax

2) Degressive - tax

3) Proportional - tax

4) Progressive - tax

AR A TAATT "&T - YOI 3TenRa & :-
D gfaemaf - e )

Ques # :66

Burden of tax will be wholely born by consumer when the demand for the product is :-
1) Perfectly elastic

2) Perfectly inelastic

3) Unit elastic

4) Less elastic

T SR STl G@RT TFIOT T § T@T AT ST 514 T I AT § -
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D) qof R

Ques # :67

Difference between tax avoidance and tax evasion is :-

1) of Legallity

2) of amount of tax
3) of tax payer

4) no difference

Y 9919 U9 FT IGAT H el & :-
D) denfaerar &

2) gy et s

3) Ferar &

4) NS e G

Ques # :68

When marginal Social benefit of expenditure is equal to marginal social sacrifice of tax then it is called :-

1) Benefit principle of taxation

2) Principle of Maximum social advantage
3) Ability principle of taxation

4) Equal sacrifice principle of taxation

ST ST & HATed ATATIO AT Y F HIATed ATAITSI I & S31e] § o 3§ el S :-

1) Rt &7 Imet & e

2) 3TFTH TTHTToTF T T (AL
3) FRIIOT T Qe &7 A

4) FRIYUT T GHATT-cATeT & F&gied

Ques # :69

Productive debt is taken :-

1) For expansion of basic Infrastructure
2) For management of Natural Calamities
3) For war and security

4) For controling Inflation

IcUTE - R OT foraT AT § :-

D) smemere avaem & favar & oy
2) 9T iR JTeT FawtreT & for

3) 7 7 geaT & fordy

4) FaT TR T g feTd et 3 fordr

Ques # :70

Example of External debt is :-
1) Loan from International Monetary Fund
2) Loan from Central Bank
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3) Loan from Commercial Bank
4) Loan from Public

9TET FOT FT 3GTEI0T§ -

D) 3R~ aggr @ & 0T
2) hedrg 3 @ HoT

3) TR S & ot

4) STeTar & HoT

Ques # :71

Who introduced " The uniformity canon" of taxation ?
1) Lutz & Benham

2) Nitty & Conard

3) Dalton & Marshall

4) Pigou & Adam Smith

FIRNIUT F "THEIAT FRAGIT" &1 gfauresT Faa fFarg 2
D qesr qar asgm o

) A raFE

3) gTecsT ud AT o

4) diey vdl v Femy

Ques # :72

Which one of the following debts is a productive public debt ?
1) for re-establishment after war.

2) for covering the budget deficit.

3) for flood services.

4) for Railway.

e & @ Flawr 3cues FdefaE Zord 2
D) g aeard g1 T 8

2) qoTe ST Y R R 5 T

3) a1 Yar3it & faw

4) Yo IRag & o

Ques # :73

which of the following is a tax revenue ?
1) Rental Income from public property

2) Interest income from Loan

3) Revenue from estate duty

4) Issue new paper currency

frafaf@aT A T FT IMITH T 2

D) aréerfare dufea & fomrar & &9 & 3ma
2) ot 9T 9T STl - 3T

3) Fafed o & TTed 31T

4) ¢ 77 FgT ST
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Ques # :74

Which of the following items is not included in Public Revenue ?
1) Income Tax

2) Excise duty

3) Profit of Public Enterprise

4) Receipt from sale of Public Property

ot & @ i 7g wdefaw sy F aEAfRa adi g 2
D) e

2) 3cqTes X

3) FTHIY 3UHH I T

4) T gFafa & o @ greg i

Ques # :75

In India " Functional Classification budgeting" was introduced in the year :-
1) 1950 - 51
2) 1957 - 58
3) 1967 - 68
4) 1977 -78

mﬁamﬁma?ﬁwwmaﬁragmgé,a&:-
1) 1950-51 %
2) 1957 - 58 &
3) 1967 - 68 3
4) 1977 -78 3

Ques # :76

Which one of the following is not a "Internal public - debt" source ?
1) Market debt.

2) Treasury Bills.

3) Debt from International institutions.

4) Provident funds.

e & @ FleaT " HFdRE AdATAS FOT" FTENT AT & 2
1) sreme =%,

2) gordy e,

3) 3eRTsEr faea Team3it & xor

1) s1fgsg Afe

Ques # :77

In economic classification of central budget, there are :-
1) Two accounts

2) Three accounts

3) Four accounts

4) Six accounts

FeelT goe & I F Feffaror A g & --

Derara
2)
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d @ra
3) AR @
4)€§:EHFT

Ques # :78

Gross fiscal deficit is equal to :-

1) ( Expenditure + Net Pending) - ( Revenue Receipt)
2) Expenditure - Revenue Receipt

3) Revenue Receipt - Revenue Expenditure

4) RBI's debt and credit to the Government

Wﬂmﬂmm%:-

D) (o9 + gg afEaa oT) - (e W) & sa
2) eI - 31TTH TS & s{Ie

3) 3TH WIS - 31TH e & ST

4) N1 Y6 G UIed HUT Ud TG & s

Ques # :79

Deficit Budget will bring :-
1) A fall in price level

2) An increase in price level
3) No effect on price level
4) None of these

uﬁ#m#aﬁ’r:-
D) e s 7 TRrae
2) ProAT TR A G
3) FrHAT TAX I 39T

Y go1at @ IS AE

Ques # :80

which Indirect tax will not be abolished by Goods and Service Tax (GST) ?
1) Central Sales Tax

2) Custom Duty

3) Excise Duty

4) Service Tax

T U9 [T FT (GST) H FITH AT FI HATCA 7E1 ghar 2
D g fashr

2) g e

3) FedTes o

4) Jar

Ques # :81

Which is not the objective of Goods and Service Tax (GST) ?
1) To abolish Indirect Taxes on goods and sevices

2) To reduce the production cost

3) To increase the public revenue
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4) To reduce the inequality of Income

IE TG JAT HT (GST) FT HleTar 32T A8 & 2

D) aeqatt va dansit o srregat 1 @ gATC FA
2) 3T SITaTd &Y & el

3) Y a7 gfg e

4) 3T Y ITFATAT Y HH HLeAT

Ques # :82

" Money is the axis around which economic science clusters' , this is the statement of :-
1) Crowther

2)J. S. Mill

3) Marshall

4) Pigou

D sr3e e

2) o wq. fAe
3) Areter &
4)tng'(|;a;|'

Ques # :83

"Money is, what money does." It was said by :-
1) Hartley Withers.

2) Ely.

3) Keynes.

4) Marshall.

" HGT T8 &, SN HGT HTHA FX ", T§ FgT 14T :-
D) gréer e gamr

2) wely @t

3) fepert @RI

4) ATl garT

Ques # :84

In India the method of Issue of paper currency is :-
1) Simple Deposit

2) Percentage Reserve

3) Proportional Reserve

4) Minimum Reserve

Wﬁﬁﬂﬁmmﬁm%:-
D) @remor s

2) yferd iy

5) sregatem e

4) st FIY

Ques # :85
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"Monetary Policy means employing Central Bank's control of the supply of money as an instrument for
achieving the objectives of General Economic Policy." it was said by :-

1) Hary Johnson.
2) G.K. Shah.

3) Jan Timbergen.
4) Robbins

"l sfifer 1 3merr i de @ ApEr A gfef W AT T A A @ 8, arf aeer
M Ay & 3gAT WA TH" , I Fgl 3T :-

3) e TR e@m

4) Afs=a ganr

Ques # :86

Which one of the following is not a " monetary - policy" instrument ?
1) Bank Rate

2) Open market Operation

3) Taxation

4) Cash reserve Ratio

e & @ Flaar " 7l - A" F13TROT AR 2
Dde-e3

2) gor SR 1 g

3) gRIToT

4) sTehe; - FIISTAT

Ques # :87

Which one of the following is a monetary - policy instrument to raise the credit facilities ?
1) Repo Rate

2) Loan facility in primary sector

3) Selective Credit Control

4) Consumer Credit Control

fovet F @ Fiorar w1w - e fvaw o AfeF-Afa F139ww0r e 2
Dar-ex

2) grerfvear & 3 FoT gRer

3) afag ar@ fAg=au

4 3usiierar are =TT

Ques # :88

The technique of " Selective Credit Control" was introduced by Reserve Bank of India in :-
1) 1956
2) 1958
3) 1957
4) 1959

AR Rord do7 F ' wafare e fAg=or awedls St Fa o -
D 1956 #
2) 1958 3
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3) 1957 #F
4) 1959 #

Ques # :89

There are four method of credit control - (A) Margin fixing (B) Consumer Credit Control (C) Discriminating
Interest Rates (D) direct Action. Which two of the above method related to "selective credit control
technique" ?

1) Aand B
2) Band C
3) Cand D
4) AandC

AW - fAg=or i ar {R=T § - (30 Afeie Aeior @) sysiedar g A= (@) feed® sarer &t
(@) TT8T FRIART | 3T # & Fladt &) Rt aafoa g o aedls @ gwafoa 2
Dayuaq

2)gudd

SRRy

YDyudg

Ques # :90

There are four points which affect the demand & supply of money - (A) The Transaction motive (B) The
precautionary motive (C) Level of Bank reserves (D) Public desire to hold currency & deposits. Which two of
the above points related to the "supply of money" ?

1) Aand B
2) Band C
3) Cand D
4) Aand D

FGT Y AT 4T et I TATOIS Fidet AT TR oG, 8 (37) FF.- [AH67 7 3227 () G&THAF 3637
(W) I FIY FT TAT () ST T FET TYT FTAT T@A Y §TBT | STF A § "Far hr qfet &
FrftasT A Rige 2

Dayuaq

2)gud ¥

SR Ry

YDyywdg

Ques # 91

Main objective of monetary policy is not :-
1) Price stability

2) Full employment

3) Economic development

4) Buying and Selling of Securities

Har A 1 vHE 3T AL E -
D) $rora feeran

2) quf st

3) 3nfes far

4) gfestfart &1 59 - s
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Ques # :92

Which one of the following is not a physical measure to check the "Inflation" ?
1) Increase in Production.

2) Control over Storage.

3) Control over Export - Import.

4) Decrease in Public Expenditure.

foreer & & lerar "oaT - TR B Qe F1 sifaF SRR AT -
D) 3eureer A afy

2) HIgUT 9T

3) 3T - P Qe

4) Fréetferes g 7 A

Ques # :93

Which of the following is not the measure of quantity measures of Monetary policy to control the credit ?
1) Changes in Bank Rate

2) Changes in Cash Reserve Ratio

3) Changes in Liquidity Ratio

4) Rationing of Credit

Alfgr AT F @ A= & aRFAOIEAS 39T A AT A Flaarsar agig 2
D) §o ex & aRade

2) TG ITIAT # Tiace

3) geerar FIY F gRade

4) e & grerfeer

Ques # :94

Essential for Credit expansion is :-
1) Increase in Bank Rate

2) Increase in Cash Reserve Ratio

3) Reduction in Bank Rate

4) Selling of Securities in open market

g TR & Y e g+ § -
Disgagfied

2) FeTE ST #F gfg

3 dF T A FAT Y

4) g aTeTR # wfasifaat & s A

Ques # :95

There are four measures to control Inflation - (A) Increase in taxes (B) Surplus Budget (C) Credit Control (D)
Issue of New Currency. Which two of the above measures are "fiscal measures' ?

1) Aand B
2)Band C
3)Cand D
4)Aand D

HaT - TR ! IR Fa F TR 39 8 - (30 F A I (@) 79 7 F9re (@) 7@ 7=70r (@) 7%
HaT H1 fAadeT 3T0Fa & § Flad &Y TSI - 39" § 2
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Druas
2)guadg
dgudg
Yawag

Ques # :96

Which one of the following is not a condition of " Deflation" ?
1) When monetary income decreases but production increases
2) When monetary income is constant but production increases
3) When monetary income increases but production decreases
4) When production is constant but monetary income falling

et o @ o TRTRURY o7gT - T By 2
D) 59 #Aifger 3T+ &, Al 3cUeT I W@ E

2) e A 3T 8RR @Y, et 3cdTeeT 56 W e

3) S Aifge 3 96 W Y, AfFet 3cueT T @Y
4) 319 3cuTe TEeR Y, dferet Aifgeh T R @ g

Ques # :97

When in an economy, "Economic-Recession' and "Inflation" both are present then it is known as :-
1) Inflation

2) stagflation

3) Reflation

4) Disinflation

g

D g1 - whifa
2) forede - TR
3) FgT - wfew
4) g - IERf

S

Ques # :98

"The money-market properly speaking is the market for short term and day - to - day loans" it was said by :-
1) Crowther

2) Pigou

3) Sipman

4) Sayers

TuTe & T, " 7T - TR T TR &, o reusrelsT aut ufafee & Hol Fr T - ST R |
g el :-

D sEera

2)q=|gl°—_T

3 fuaa S

pk-pre

Ques # :99
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Repo rate is that at which :-

1) Central Bank borrows from Commercial Banks

2) Central Bank provides Loan to commercial Banks

3) Commercial Banks borrow from Central Bank on the basis of Government Securities
4) Interest is given to commercial Banks, on the cash reserve with Central Bank.

R I w:-

D) ey ¥ o St A 3R arar @

2) FirT & TR ST KOT TSI AT &

3) cATaTRe o Fedla S T TIHRY Ffsffaat & sgo HoT A &
4) YopT Y 3T FATT S & I PIY YT AT f&AT ST &

Ques # :100

For calculating liquidity reserve assets, which is not included in Liquid assets ?
1) Gold

2) Cash Balance

3) Bill of Exchange

4) Government Securities

AT FIY AT FA & o FoT ol FFAT A0 F AT 7 Y F1F arelt Flerel weafer § 2
1) &g

2) ate; A

3) faferaa oot

4) ey wfessfaa

Ques # :101

At present the Cash Reserve Ratio is :-
)5S %

2)6 %

3)4%

4)4.5%

TAATT H 797G FIITIT & :-
1) 5%

2) 6%

3) 4%

4) 4.5 %

Ques # :102

At present Repo rate is :-
1)6.5%

2)5%

3) 7%

4)7.5%

THAT AR - d -
1) 6.5 %

2)5 %

3)7 %

4)7.5%
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Ques # :103

Which of the following is not the objective of Fiscal Policy in India ?
1) Management of Public Revenue

2) Management of Public expenditure

3) Management of Public debt

4) Price stability

AR & TSI Y #1 i@ # 3 Flaar seeg agid 2
D) Semrerea geer

2) FrdSIfeTd g gatreT

3) ardenieres HOT yate

4) Frere ReeRar

Ques # :104

Which one of the following is not a part of "Organised money-market' ?
1) Sahukar

2) Private Bank

3) Development Bank

4) Reserve Bank

foer & @ e FAfS - e IR FT R AL 2
D argar

2) frshr de

3) fawrar s

4) s 3

Ques # :105

" Inflation is unjustiful and Deflation is inexpedient' this statement is of :-
1) Crowther

2) Hawtrey

3) Marshall

4) Keynes

" FGT THR AT 0T § AT AT Wt HJIg el I¢ FAT & -
D) srse e

) e

3) AreTer &1

) g @

Ques # :106

Which one of the following is not a valid period of issuing Treasury Bill :-
1) 14 days

2) 18 days

3) 182 days

4) 364 days

foreer 7 & wlaar " FNEIR - o ST FA Ay FrE saferadie 2
D14 fes
2) 18 fea
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32 fea
1) 364 T

Ques # :107

"Discount & Finance House of India'" was established in :-
1) 1990
2) 1988
3) 1991
4) 1989

HRAT 727 v Rt 778 AT T Y 718 -
1) 1990 3
2) 1988 &
3) 1991 &
4) 1989 &

Ques # :108

Which one of the following is not a part of "Capital Market" ?
1) Govt. Securities Market.

2) Industrial Securities Market.

3) Indigious Bankers.

4) development Financial Institutions.

o o @ leran » 4ol e F REwTAd© 2
D) aarr afaerfa s

2) 3irezitforen sfeser ST

3) oy drt

4) fgera faca GEaTe

Ques # :109

Certificate of Deposit Scheme was started in :-
1) May, 1988

2) June, 1989

3) April, 1988

4) January, 1990

STHT I VSTAT YRS Y 1S :-
D &g 1988 &

2) 3T, 1989 3

3) 3r9eT, 1988 &

4) SteTadY, 1990 #

Ques # :110

Which one of the following is the "Financial Intermediary' of "Capital-Market" ?
1) Merchant Bank.

2) Venture Capital Companies.

3) Leasing Finance Company.

4) All of these
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fovet 3F @ Flerar » it Ao T e - wewEy B2
D sfee 8%

2) &R HRAC FEIA

3) NFSar fredt Feaet

4) gt & weh

Ques # :111

Which one of the following is the Instrument of ""Capital-Market" ?
1) Share

2) Govt. Security

3) Debenture

4) All of these

foret 7 @ Fleram "Gl - AR FTITFOTE ?
1) 3fer

2) el wfasfa

3) %507 - aF

4) gofat & Tl

Ques # :112

"Securities Trading Corporation of India" was established in :-
1) 1994
2) 1991
3) 1995
4) 1992

" HRe e SATIR fAare A FuTeer g9 -
1) 1994
2) 1991
3) 1995
4) 1992

Ques # :113

Which one of the following is not a type of "Preference-Share" ?
1) equity

2) Convertible

3) Cummulative

4) Redeemable

foreer & & Flear "qERER - 3 FTIFR AL B 2
1) e

2) gftaderaiier

3) gy

4) fawrateiier

Ques # :114

" Multiplies " is :-
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1) 1 /MPC
2) 1 /(1 - MPS)
3) 1/MPS
4)1/(1 - APC)

D) 1/ daAra 99T ygfa (MPC)
2) 1/ (1 - WA S 9gF) (MPS)
3) 1/ HreTed Saa wgfa

4 1/(1 - 3iraa 39sT yafa)

Ques # :115

Which one of the following is not a condition for the operation of the "multiplier" ?
1) Voluntary Unemployment.

2) Existence of an Industrialized Economy.

3) Existence of Elastic supply of Capital.

4) Existence of Excess Capacity in consumer goods Industries.

fovet 3F @ Flerelt 70T - wfthar Fr aw A g AR B 2
1) sfem aemmT

2) 3itenfore reeaaear & faeaHT gl

3) G r draefrer - gfel @ g

4) FUsierdT aEHT & 3eNI 3 3reaftren aTHdT T BT

Ques # :116

Which one of the following is not a cause of "Leakage from the income" ?
1) Saving.

2) Accumulation of Idle cash Deposits.

3) Export.

4) Debt Cancellation.

T & @ Flaar ' 37 & v FTFROTAL § 2
pa—

2) gEa e STAT3Ht A 3fy

3) g

4) 301 T faeiuet

Ques # :117

Who was the President of "Tax Enquiry Commission" ?
1) Kelkar.

2) Mahavir Tyagi.

3) Dr. John Mathai.

4) Prof. Raja J. Chalaiya.

FTH O Pl "HT - ST ITART" & IeqaT 4 2
D) et

?) FgTdR e

3) &, Sifet FUTS.

4) 9. =T o, et
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Ques # :118

Under whose leadership, commission on "Direct - Indirect Taxes" was formed ?
1) Dr. John Mathai.

2) Kelkar.

3) Dr. Kauldor.

4) Mahavir Tyagi.

FRTehY ITETATAT # "UcTAT - HTcTaT FA"' I AIATA FT 315 FFar a3 -
D gt St A0S,

2) ot

3) 5. prerEx

) FEd} el

Ques # :119

The coefficient of Accelerator is :-

1) Changes in Investment / Changes in Income

2) Changes in consumption / Changes in Investment
3) Changes in Investment / Changes in consumption
4) Changes in consumption / Changes in Income

aﬁamm%-

D) faferaer & aRader / 3ma & aRadsr
2) 3qsirer & gRadeT / fafaer & aRade
3) fafaraer & aRadst / 3uster 7 gRads
4) 3T & gRadeT / 39 F aRade

Ques # :120

Leakage in multiplier is caused by :-
1) Imports

2) Inflation

3) Rigid Tax policy

4) All of these

Wﬁmﬁﬂmm%:-
D) smara

2) 757 R

3) FoR T A

4) gordt 4 ol

Ques # :121

Which one of the following is not a source of tax - revenue of Rajasthan Govt. ?
1) Custom Duty.

2) Tax on Agriculture Income.

3) Sales Tax.

4) Stamps & Registration Fee.

fAFT ¥ A FITHT YT TIHR T FI-3T FT ATUA g1 & 2
D) Hrer-gree
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2) FHY 3T WA
3) fyshr e
4) FEih T TG Yok

Ques # :122

Full form of RTDC is :-

1) Rajasthan Tourist Development Corporation.

2) Rajasthan Tour Development Company.

3) Rajasthan Tourism Development Corporation Ltd.
4) Rajasthan Tourism Development Company.

RTDC &T U ATHA S :-

D) Irsreeet adies e foere
2) JroTERTe X faehre hagety

3) IrsTeRTe Tdie e e o,
4) IrsTETe T e gty

Ques # :123

Which one of the following constraints is a main constraint of Economic Development of Rajasthan ?
1) Socio - Economic Backwardness.

2) Drought & Famine.

3) Industrial Backwardness.

4) All of these

frrafaf@a st & @ Torvas F anfds e 6 g7 e a2
D) gt - 3nfdie Rosme

2) 37eRTeT Td F@T

3) st Rosds

4) goret & wehr

Ques # :124

Percentage of area of Rajasthan to the area of India, is :-
1)10.41 %
2)12.23 %
3) 15.50 %
4)11.30 %

TSTEAT T TG AR & BTG HT fFaar yfaera § :-
1) 10.41 %
2) 12.23 %
3) 15.50 %
4)11.30 %

Ques # :125

Percentage of population (2011) of Rajasthan to the total Population of India is :-
1) 6%

2) 5.7%

3) 7%

4) 8%
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TSTEYTA A STAHEAT (2011 F) AR A Fel TATEAT HT HfAAT :-
1) 6%

2) 5.7 %

3) 7%

4) 8%

Ques # :126

Index of infrastructure - development of Rajasthan is :-

) 70
2) 67
3 75
4) 76

ST T AT FAFTH FIHH o :-
1) 70
2) 67
3) 75
4) 76

Ques # :127

Share of Agriculture in Net domestic product of Rajasthan during 2014 -15 was :-
1) 20 %

2)25%

3)33%

4) 19.43 %

TSTEYT & UG B 3cute A FN HT ewqr 2014 -15FH 97 :-
1) 20 %

2) 25 %

3)33%

4) 19.43 %

Ques # :128

Green Revolution in Rajasthan was started in :-
1) 1955 - 56
2) 1965 - 66
3) 1975 -76
4) 2005 -06

TSTEATe # R ifer Y qeHTA 5% :-
1) 1955563
2) 1965 - 66
3) 1975 -76 3
4) 2005 -06 3

Ques # :129

During 2013 -14 irrigated area in Rajasthan was :-
1) 73.50 Lac Hectare

2) 80.05 Lac Hectare

3) 94.55 Lac Hectare

4) 83.8 Lac Hectare

35/41



24/06/2016 College Lecturer Exam - Economic Admn And Finance Management-|

TSESTT 7 2013 -14 H AT T 97 :-
1) 73.50 om@ greeR

2) 80.05 oI g

3) 94.55 oM@ R

4) 83.8 oI g

Ques # :130

The place of Rajasthan in Factory - sector of India during 2007 - 08 was :-
1)4.3 %

2) 6%

3) 8%

4) 12.5%

2007 - 08 H ISTEYAT HT HR & tharel - &7 H FTUTT 9T :-
1)4.3 %

2) 6 %

3) 8%

4)12.5 %

Ques # :131

The oldest organised Industry in Rajasthan is :-
1) Cement

2) Textile

3) Sugar

4) Vegetable oil

JSTEYT HT ITATH HfSd IGANT @ :-
D detee

2)@;:'@

3) =R

4) gereafa e

Ques # :132

At present, the most helpful Industry in the Industrial development of the State is :-
1) Mineral based industry

2) Industry based on Cattle wealth

3) Agricultural goods based industry

4) Oil seeds based Industry

TAA A TT & te@F R F ga@ sareT HerF 3@ § -
D) @feret smenfa 3ezier
2) gereret 3menfe 3T
3) Piara 3menfke 3eer
4) fqrerget 3menRa e

Ques # :133
Allocated Circuits in Rajasthan for the purpose of development of tourism are :-
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1) 10
2) 9
3) 8
4 11

TAELTA ) giesT i A i tfe @ afe 710 Avsa a7 (dfFe ) ¢ :-

1) 10

2) 9

3) 8

4) 11
Ques # :134

For the development of tourism in Rajasthan, the parspective - area is not :-
1) Cultural Tourism

2) Wildlife Tourism

3) Industrial area Tourism

4) Sports Tourism

TerEYTe A Tdea Y R it 7fie d srqeey - A Adi ¢ -
1) Frepfa T

2) gegsiia qiesT

3) sttt wea

4) et - g T

Ques # :135

"The State Tourism Development Corporation Limited" was established in Rajasthan in the year :-
1) 1978
2) 1976
3) 1980
4) 1986

TﬂﬂTﬁnﬁTif'IFFH“TﬂEETfEEﬂTTﬁﬁﬂﬂ?f%t’#ﬁ!ﬁﬁﬁﬁirggk-
1) 1978
2) 1976
3) 1980
4) 1986

Ques # :136

In which District the Desert Industrial area is situated ?
1) Bikaner

2) Alwar

3) Jodhpur

4) Jalore

AR e a fe Forer o Rewrr 2
D e &

2) e A

3) SerqR &

4) SR A

Ques # :137
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The first Export Promotion Industrial Park (EPIP) in Rajasthan was developed in :-
1) Bornada ( Jodhpur)

2) Neemrana (Alwar)

3) Sitapura (Jaipur)

4) Hamirgarh (Bhilwada)

TSTEYTs # vgel fadTa @ade siteaf@s uid (EpIP) fasfa fomar aram -
D) aiarer (avergR) 3

2) AR (3reTaR) H

3) TR (SR 3

4) goierg (#frerarsn)

Ques # :138

The new Industrial - planing of Rajasthan is not :-
1) Corrective

2) Liberal

3) Export oriented

4) Rigid

e o7 3itezitfires ey € Y -
D) gemardr

2) ZERATY

i

Sy p—

Ques # :139

The actual expenditure ( at current Price) in Eleventh Five year Plan of Rajasthan was :-
1) Rs. 81532 crore
2) Rs. 93951 crore
3) Rs. 97318 crore
4) Rs. 91832 crore

TSTEYTST HT TAREd Taayiy Asr=n & arafas sag (vafaa fraar ) 9r:-
D Rs. 81532 3008
2) Rs. 93951 8
3) Rs. 97318 #U8
4) Rs. 91832 FE

Ques # :140

During five year plans of the state of Rajasthan, the Economic - Social achievement has been very weak in :-
1) Agriculture

2) Industry

3) Energy

4) Population Control

TSI TS T TIau T Fiarat 7 37w - GATOS 3UeTey Had AT FAGR T ¢ :-
2) seT #
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3) 35 H
4) . - ﬁ . ﬁ-

Ques # :141

During the various, five year plans of Rajasthan the highest share of Public expenditure has been incurred on

1) Community and social services

2) Irrigation and Power

3) Agriculture and rural Development
4) Industry, mining and Tourism

TSTELTA Y 31T Taauiy FS=131 H Fraeias aT ST Faifdd 72T @ Far -
l)mam@mﬁw

2) @ g afFa

3) Y 3 greior s w

4) 3T, WAl T Ted W

Ques # :142

As per Census of 2011, the Unemployed in labour force of the state have been estimated as :-
1) 20 Lac
2) 30 Lac
3) 38 Lac
4) 33 Lac

2011 Y STANVTAT F AR [T H A ATFT H SIS AT 7T -
1) 20 o
2) 30 oG
3) 38 oIr@
4) 33 org

Ques # :143

The highest employment apportunities in the Rajasthan state are in :-
1) Agriculture sector

2) Dairy sector

3) Industries

4) Programmes of Rural Development

TSAELTA AT A AT NI & AT & :-
D) sfere avat

2) gerarereT &yt

3) Zeait &

4) FreoT faehre SrishAT 3

Ques # :144

NAREGA scheme was introduced in state of Rajasthan on :-
1) 2nd December, 2006

2) 2nd January, 2006

3) 2nd February, 2005
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4) 2nd February, 2006

ST TS H T3 FhIH AR FY 78 :-
1) 2 fegwaT 2006 &t

2) 2 STeTardy 2006 &

3) 2 wadY 2005 @

4) 2 BTady 2006 T

Ques # :145

Percentage of Literacy in Rajasthan during 2011 was :-
1) 73 %

2) 66 %

3) 65.2 %

4) 64.3 %

TSTEAT & HIETAT T faerd 2011 & o7 :-
1) 73 %

2) 66 %

3) 65.2 %

4) 64.3 %

Ques # :146

In Rajasthan, The ratio of population below the poverty line in 2011 -12 was :-
1) 14.7 %
2)21.4 %
3) 16.8 %
4) 24.8 %

TSTEYTA & 2011 - 12 7 TR 1@ § A=) STAHEIT 7 9T AT -
1) 14.7 %
2)21.4 %
3) 16.8 %
4) 24.8 %

Ques # :147

The main reason of poverty in Rajasthan is :-
1) Population growth

2) Social backwardness

3) Under development of State

4) Geographic reason

TerEYTeT H foreferar &1 v @ FROT ¢ :-
D srereear gfg

2) granfors Rosmd

3) I &7 3169 e

4) aitanfores o

Ques # :148

The Integrated Rural Development programme was started for eradication of poverty in Rajasthan in the
year :-

1) 1978 - 79
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2) 1979 - 80
3) 1980 - 81
4) 1981 - 82

ST A T - Ieqeret & T wehrege Arefior faerar wrishar o foham ara -
1) 1978 - 79 7
2) 1979 -80 &
3) 1980 - 81 3
4) 1981 -82 3

Ques # :149

At present, The Drought Prone Area Programme is being implemented in number of districts, which are :-
1) 8

2) 10
3) 13
4 11

TAAT H GAT WHTST 81 FRAFH forell & o] ¢, JeTeh) HE&AT S :-
1) 8
2) 10
3) 13
4) 11

Ques # :150

In Rajasthan, the 'Integrated Watershed Management Programme' was started on :-
1) 1st April, 2008

2) 1st January, 2007

3) 1st March, 2009

4) 2nd Fabruary, 2005

TSEATT A GATPA AT AT (S TEVT ) Yool HIAsha =Te] ForaT 7147 T :-
D 1 3/, 2008 1

2) 1 STeTadl, 2007 &t

3) 1 AT, 2009 &1

4) 2 teadl, 2005 T
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